


Q1) 9 + 2( 6 × 1.5 + 16 ÷ 4) = ?

(1) 18 (2) 35
(3) 9.90     (4) 24



Q.2 The speed of a boat in still water is 6 km/hr and

the speed of the stream is 1.5 km/hr. A man rows to

a place at a distance of 22.5 km and comes back to

the starting point. Find the total time taken by him.

श ांत प नी में एक न व की च ल 6 ककमी/घांट है और ध र की

च ल 1.5 ककमी/घांट है। एक आदमी 22.5 ककमी की दूरी पर

कथित एक जगह तक ज त है और किर शुरुआती क ांदु पर

व पस आत है। उसके द्व र कलय गय कुल समय ज्ञ त

कीकजए।

(a) 6 hrs (b) 3 hrs. (c) 5 hrs. (d) 8 hrs



Q.3 If length of a rectangle is 

increased by 20%, then by what 

percent should its breath be 

decreased so that the area remains 
constant?

1. 2. 3. 4. 



Q4: Two trains 121 m and 99 m in length
respectively are running in opposite directions,
one at the rate of 40 kmph and the other at the
rate of 32 kmph. How long will they take to be
completely clear of each other from the
moment they meet?
क्रमशः दो गाड़ियों 121 मीटर और 99 मीटर की
लंबाई विपरीत डदशाओं में चल रही है, एक 40
डकमी प्रतत घंटे की दर से और दसूरी 32 डकमी
प्रतत घंटे की दर से चल रही है। जिस क्षण िे
तमलते हैं, िे एक दसूरे से पूरी तरह पार होने में
डकतना समय लेंगे?
a)110 sec b)99 sec c)88 sec d)11 sec



Read the following data carefully and answer the questions given below.
Total population of a village from 2012 to 2018:
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Q5:If the number of females in year 2016
is 2/3 of the total number of males, then
what is the number of males in the villag

e?
यकद वर्ष 2016 में मकहल ओां की सांख्य  पुरुर्ों की कुल सांख्य 

क  2/3 है तो ग ांव में पुरुर्ों की सांख्य  ्य  है?

A) 2160 B) 2250 C) 1380 D) 2070
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Q6)A person sold an article at a profit

of 12%, if he had sold that 60 rupee

more he would get a profit of 18%.

Find the actual cost price of the article.

एक व्यकि ने 12% के ल भ पर एक वथतु  ेच ,

अगर उसने 60 रुपये अकधक में  ेच होत तो

उसे 18% क ल भ कमलत । वथतु की

व थतकवक ल गत मूल्य ज्ञ त कीकजए।

A)1400 B)1000

C)600 D)1550



Q7)The fourth proportional 
to 6, 12, 15 is: 
6, 12, 15 का चतुर्ाानुपाती
ज्ञात कीजिये?
(a) 24 (b) 22
(c) 18 (d) 30



Q8) A sum of money doubles 

itself in 7 years at simple 

interest . In how many years 

it will become 4 times ?

2. 

3. 4. 



Q9)The ratio of boys and girls in a 
school is 6 : 7. If the total number 
of students in the school is 3289, 
then what is the number of girls? 
एक स्कूल में ल़िके और ल़िडकयों 
का अनुपात 6 : 7 है। यडद स्कूल 
में छात्रों की कुल संख्या 3289 है, 
तो ल़िडकयों की संख्या क्या है?
(a) 1771 (b) 1876
(c) 1984 (d) 1569



Q10) Suman and Lata working 
together can complete a task in 8 
days. If Lata can complete the same 
task in 12 days, then how many days 
will Suman take to complete the 
same task?
सुमन और लता एक सार् काया करते 
हुए एक काया को 8 डदनों में पूरा कर 
सकते हैं। यडद लता उसी काया को 12 
डदनों में पूरा कर सकती है, तो सुमन 
उसी काया को डकतने डदनों में पूरा 
करेगी?
(a) 18         (b) 15 (c) 10 (d) 24 



Q11) The price of sugar is reduced 
by 20%. Now a person can buy 
500 g more sugar for Rs 60. The 
new price of the sugar per 
kilogram was
चीनी की कीमत 20% कम हो 
िाती है। अब एक व्यवि 60 रुपये 
में 500 ग्राम अतिक चीनी खरीद 
सकता है। चीनी का नया मूल्य
प्रतत डकलोग्राम र्ा?
A)12          b)24          c)30        d)36



Q12) What is the average of 
the first 10 prime numbers? 
प्रर्म 10 अभाज्य संख्याओं का 
औसत क्या है?
SSC MTS 15/07/2022 (Shift- 1) 
(a) 10.9        (b) 12.9 
(c) 11.9          (d) 13.9



Q13) The male population of a city has increased by 
20% from the previous year, while the female 
population has increased by 42.5%. If the total 
population of the city has increased by 30%, then 
the female population of the city was what 
percentage of male population in the previous year? 
एक शहर की पुरुष िनसंख्या में वपछले िषा की 
तुलना में 20% की िवृि हुई है, िबडक मडहला 
िनसंख्या में 42.5% की िवृि हुई है। यडद शहर की 
कुल िनसंख्या में 30% की िवृि हुई है, तो वपछले 
िषा में शहर की मडहला िनसंख्या पुरुष िनसंख्या का 
डकतना प्रततशत र्ी? SSC MTS 19/07/2022 (Shift- 3) 
(a) 60% (b) 80% (c) 90% (d) 70%



Q14) Mohan invested Rs.5,000 in a bank which 
offered interest at the rate of 10% per year 
compounded semi-annually. How much amount 
will he get after 1 years? 
[Give your answer correct to the nearest integer 
value.] 
मोहन ने एक बैंक में 5,000 रुपये का तनिेश डकया, 
िो प्रतत िषा 10% की दर से अिा-िावषाक चक्रिवृि 
ब्याि की पेशकश करता है। 1 िषा बाद उसे डकतनी 
रातश प्राप्त होगी?[तनकटतम पूणाांक मान तक अपना 
उत्तर सही दें।]
SSC MTS 07/07/2022 (Shift- 1) 
(a) Rs.5,512 (b) Rs.6,320 (c) Rs.6,250 (d) Rs.5,078



Q15) A basket contains 350 eggs. If 12% of the 
eggs are rotten, how many eggs are good 
enough to be sold? 
एक टोकरी में 350 अंडे होते हैं। यडद 12% 
अंडे स़ेि हुए हैं, तो डकतने अंडे बेचने के तलए 
पयााप्त हैं?
(a) 408 (b) 310 (c) 308 (d) 410



Q16) The single discount equivalent to two 
successive discounts of 15% and 12% on an 
article is: 
एक िस्तु पर 15% और 12% की दो लगातार 
छूट के बराबर एकल छूट है:
(a) 3% (b) 25.2% (c) 74.8% (d) 27%



Q17) A , B , C and D share a property worth 

Rs.93,100. If A : B = 1 : 2, B : C = 3 : 4 and C 

: D = 5 : 6, then find the share of C. 

A , B , C और D 93,100 रुपये की सांपकि स झ करते हैं। 

यकद A : B = 1 : 2, B : C = 3 : 4 और C : D = 5 : 6, तो 

C क  कहथस  ज्ञ त कीकजए।

(a) Rs.34,000 (b) Rs.28,000 

(c) Rs.25,000 (d) Rs.31,000



Q18) Six years ago, the ratio of the ages 

of A and B was 7 : 5. 4 years from now, 

the ratio of their ages will be 11 : 9. 

What is the age of A at present?

छह स ल पहले, A और B की आयु क  अनुप त 

7:5 ि । अ  से 4 स ल   द उनकी आयु क 

अनुप त 11:9 हो ज एग । वतषम न में A की  आयु 

ककतनी है?

(a) 21.5 yrs. (b) 23.5 yrs.  (c) 24.5 yrs.  

(d) 27.5 yrs.



Q19) A, B and C did certain investments 
and the ratio of their time periods is 3 : 2 : 
7 respectively. Ratio of the profits of A, B 
and C is 4 : 3 : 14 respectively. What is the 
ratio of the investments of A, B and C? 
A, B और C ने कुछ तनिेश डकया और 
उनकी समयािति का अनुपात क्रमशः
3:2:7 है। A, B और C का लाभ अनुपात 
क्रमशः 4 : 3 : 14 है। A, B और C के 
तनिेश का अनुपात क्या है?
(a) 1 : 3 : 4           (b) 7 : 9 : 11 
(c) 8 : 9 : 12         (d) 2 : 3 : 11



Q20)The average of six numbers is 
4.5. The average of two of them is 
3.7, while the average of other two 
is 2.5. What is the average of the 
remaining two? 
छह संख्याओं का औसत 4.5 है। 
उनमें से दो का औसत 3.7 है, िबडक 
अन्य दो का औसत 2.5 है। शेष दो
का औसत क्या है?
(a) 3.7 (b) 2.5 (c) 4.3 (d) 7.3



Q21) Working for 10 hours per day, 6 men 
can build a wall in a certain number of 
days. By working for how many 
hours/minutes per day can 12 men build 
the wall in the same days? 
प्रततडदन 10 घंटे काम करके 6 आदमी एक 
दीिार को तनजित डदनों में बना सकते हैं। 
प्रतत डदन डकतने घंटे/तमनट काम करके 
12 आदमी समान डदनों में दीिार का
तनमााण कर सकते हैं?
(a) 7 hours 30 minutes      (b) 5 hours 
(c) 20 hours                                (d) 10 hours



Q22) 



Q23) The marked price of an item is Rs. 
5800. If Ravi earns a profit of 25% after 
allowing a discount of 20%, then the cost 
price of the item is: 
डकसी िस्तु का अंडकत मूल्य रु. 5800. 
यडद रवि 20% की छूट देने के बाद 25% 
का लाभ अजिात करता है, तो िस्तु का क्रय 
मूल्य है:
(a)Rs. 3625 (b) Rs. 3724 
(c) Rs. 3720 (d) Rs. 3712
(SSC MTS 2020, Exam 18.10.2021 Shift-1)



Q24) 



Q25)The sum of the length, breadth and 

height of a cuboid is 28 cm. If the total 

surface area of the cuboid is 588cm2, then 

its diagonal is:

एक घन भ की लां  ई, चौड ई और ऊां च ई क  योग 

28 सेमी है। यकद घन भ क  कुल पषृ्ठीय के्षत्रिल 

588cm2 है, तो इसक  कवकर्ष है:

(a) 14 cm (b) 12 cm (c) 16 cm (d) 15 cm 

(SSC MTS 2020, Exam 18.10.2021 Shift-1) 




